
Physics 101: Lecture 14, Pg 16

Preflight Preflight 
The picture below shows two people lifting a heavy log. 
Which of the two people is supporting the greatest weight? 
1. The person on the left is supporting 

the greatest weight
2. The person on the right is supporting 

the greatest weight
3. They are supporting the same weight 
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“assume r for F1(person on the left to the log) is 
1/4R, then after calculation i get F1=2F2”

“The guy on the left has to support more weight 
because he is further in and has to support more of 
the board. ”

CORRECT




